K73-24B

METAJNNOMNEHOYHbIE
NONMMITUNEHTEPE®TANATHbLIE KOHOEHCATOPbI

METALLIZED POLYESTER FILM CAPACITORS

TexHu4yeckue ycnosusa: AMNK.673633.010 TY

MpeagHasHayeHbl AnA

pabotbl B

uensax

NOCTOAHHOIO, nepemMeHHOro, nynbcupyroLiero
TOKOB U B MMNYJIbCHbIX peXumax.

MoryT npumeHsiTbecsa B3ameH K73-17, K73-30,

K73-34, K73-5.

KOHCTPYKLMSA: OKyKIEHHbIE.

HomuHanbHas eMkocTb

HomuHanbHoe HanpspkeHue
(B HTEpBane TemnepaTyp
-60°C ...+85°C)

ﬂonycxaemoe OTKINOHEHNEe eMKOCTU

TaHreHc yrna notepb npu f = 1kly,

ConpoTuBneHue nsonsauum
anst Crom < 0,33 Mk®

MocTosiHHas BpemeHu
ansa Chom >0,33mkd

MHTepBan pabounx TemnepaTyp

M3ameHeHne emkocTh B MHTepBane

MONOXUTENbHBLIX TeMneparyp
Hapa6oTtka
Cpok coxpaHseMocTu

Knumartuueckoe ucnonHeHue

O6o03Ha4yeHue npu 3akKase:

20"°

-l
Lt

H max

L max

0,001 .... 6,8 mx®
63; 100; 160; 250;
400; 630 B

15; £10; £20 %

<0,012

23000 MOm

21000 MOM-MKkD

-60...+125°C

<10%

15000 4

10 net

YXIN (93+3% oTHOCKT.

BIaXXHOCTW nNpu
40£2°C, 10 cyToK)

KonpgeHcaTop K73-248 - 100 B - 0,1 Mk® - + 20% -
7,5 Mm (A — paccTosiHne mexay BbiBOgaMm)

Specifications: ALINK.673633.010 TY

Designed to operate in DC, AC and ripple
current circuits and in pulse mode.

Can be used instead of K73-17, K73-30,

K73-34, K73-5.

Design: dipped.

B max

Rated capacitance
Rated voltage
(temperature range
-60°C...+85°C)
Capacitance tolerance

Dissipation factor at f = 1 kHz

Insulation resistance
atCr=<0,33 yF

Time constant
at Cr>0,33 uF

Operating temperature range

Capacitance change within
positive temperature range

Operating time
Shelf life

Climatic categories

Ordering example:

0,001 ....6,8 uF
63; 100; 160; 250;
400; 630 V

15; £10; £20 %

<0,012

= 3000 MOhm

= 1000 MOhm-uF

-60...+125°C

<10%
15 000 hours
10 years

RH 93+3%,
40+2°C, 10 days

Capacitor K73-248 - 100 V - 0,1 pF - £ 20% -

7,5 mm (A — lead spacing)
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U...=100 B/ U,=100 V

U...=250 B / U;=250 V

CHOM’

MK¢ Lmax, Hmax, Bmax’ A! d! ngza’r Lmaxs Hmaxa Bmaxa A! d! MMaacscsa ’r
C., uF mm mm mm mm | mm ma)zg mm mm mm mm | mm ma)’(g
0.0010
0.0015
0.0022
0.0033 9 9
0.0047
0.0068
0.0082 4.5 2.0
8812 11 75
0.015 11 75 20 10.5
0.018 0.6
0.022 4.5 ’

0.027
0.033
0.039 6
0.047
0.056 10.5
0.068 1.5 3
0601802 06 13 7.5 10

0.12

0.15

0.15 18 13 6 15 0.8 3.5

0.18 4.8 3.0 9.3 3.1

022 13 5o 13.5 11.5 11 10 0.6 34

0.22 ’ 10 18 14 7 0.8 4.0

0.27 6.1 3.7

0.33 6.0 71 15 4.3

039 - 19.5 16 82 0.6 13

0.47 13.5 6.6 ' 9.4 4.8

0.47 11.5 ’ 23 18 7.5 20 0.8 55

0.56 5.6 3.7 195 9.4 15 06 5.2

0.68 6.7 4.0 11.2 5.6

0.68 ' ' 23 19 9.0 20 7.0

0.82 19.5 56 15 4.2 27 8.8 225 | 0.8 6.3

1.0 6.7 4.5 10.5 6.9
1.0 15.5 ’ ' 23 21 ’ 20 9.0
1.2 7.8 4.7
1.5 8.5 5.0
1.8 6.0
5.8
2.2 6.7
57 27 20 ) 22.5 66
3.3 8.5 6.8
3.9 8.0 0.8 8.3
4.7 8.5 ’
56 33 23 10 27.5 ”
6.8 1

Cuon U...=63 B/ U=63V U...=160 B/ U,=160 V

MK® | Lo, | Hpaw | Braw | A | d | W L | Hugo | Buao | A, | d, | fRCCET
Ci, WF mm mm mm mm mm ma;g mm mm mm mm mm max’g

1.0 18 15 8 15 4.5
1.5 18 15 55 19 9 1.0 5.8
2.2 23 19 8.5 0.8 7.0 24 22 10 20 6.8
3.3 21 10.5 20 9.0
4.7 24 25 12 1.0 12
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Coons U..n=400 B / U;=400 V U,..n=630 B/ U;=630 V

MKP Lmax, Hmax, Bmax, A, d, Macca,r Lmax, | Hmax, | Bmax, A, d, Macca,r
c F Mass, g Mass,g

rn M mm mm mm mm mm max mm mm mm mm mm max
0.010 10.5 2.0
0.015 13 13 6 10 0.6 3.0
0.022 10.5 6 0.6 2.0 15 7 3.4
0.033 13 13 10 ) 3.0 13 6 3.6
0.047 15 7 3.4 18 14 7 15 4.0
0.068 13 5 3.6 15 8 0.8 4.7
0.10 18 14 6 15 4.0 18 7 5.8
0.15 15 8 0.8 4.7 23 19 8.5 6.0
0.22 18 7 5.8 21 10.5 20 6.8
0.33 23 19 8.5 6.0 o5 24 11.5 10 8.3
0.47 21 10 20 6.8 25 15.5 ) 12.0
0.68 24 11 8.3

1.0 24 27 14 10 12.0
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3aBMCMMOCTb A0ONycKaemon amnnuTyabl NePEeMEeHHOro CMHYCOMAANbHOro HanpsXKeHns unv amnnmTyabl
nepeMeHHON CMHyconaanbHON cocTasnsalLwen nynbcupytoLero HanpsbkeHns Uy oT vyacTtoThbl f

Permissible amplitude of AC sinusoidal voltage or amplitude of AC sinusoidal component of ripple voltage
Ur as a function of frequency f
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Chom —————p

Mpumep onpegeneHus Us:

[aHo: f=1 -10* 'y, U=U,0n=630 B, C.,,=0,1 Mk®
Haxogum: Us=13% o1 U,,,=82 B

[aHo: f=1-10* Ny, U=U,0w=250 B, C,,,=1500 n®
Haxogum: Us =64,5% ot U,,,=161 B

Example of calculation of U :

Given: f =1-10* Hz , U=U,=630 V, C=0,1 uF
Finding: Us =13% of U=82 V

Given: f =1-10* Hz , U=U,=250 V, C,=1500 pF
Finding: Us =64,5% of U=161V
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3aBNCMMOCTb [onyckaemoro pa3Maxa UMnyribCHOro HanpsaxXeHua AUM OT 4YacCTOThbl ClriegoBaHNA MMNynbCcoB

Fu, ANMTENBHOCTU HaUMEHBLLErO N3 BPEMEHHbIX Y4aCTKOB T,, COOTBETCTBYIOLLMX (PPOHTY T4 UMK CMIAAY Tc
MMNynbca, U HOMUHanNbHON eMKOCTU C,oy

Permissible peak-to-peak pulse voltage AU, as a function of pulse repetition frequency F,, minimal temporal
sector 7,,corresponding pulse leading edge slope 4 or pulse trailing edge slope z. and rated capacitance C,
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Mpumep onpepenenusa AUy :
[aHo:

F,=2-10" 'y, T,=10°c,

U=U,.,w=630 B, C,v=0,22 Mk®
Haxopum:

AU,=6% oT U,.,=37,8 B

[aHo:
F.=2-10* 'y, T, =10%c,
UEU,on=63 B, Cow=0,01 MK®D

Haxogum:
AU,=40% o1 U,.,w=25,2 B

Example of calculation of AU, :

Given:
Fu=2:10"Hz , T,=10°s,
U=U=630V, C=0,22 uF
Finding:
AU,=6% of U=37,8 V

Given:
F,=2:10°Hz, T, =10"s,
U=U=63 V, C=0,01 uF
Finding:
AU,=40% of U;=25,2 V
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ﬂpe,qeano Jornyckaemble amnnnTyaa MMMyIbCHOMo ToKa I, U CKOPOCTb U3MEHEHUA HanpsaXeHus du/dt

Maximum permissible amplitude of pulse current I, and rate of the voltage change dU/dt

Uﬁ‘:"VB C"g:: :‘"jq’ T, Max, A dU/dt, max, Vs
63 15..4,7 16,5...51,7 11
0,001...0,0068 0,14...0,95 140
0,0082...0,027 0,71..2,35 87
100 0,033...0,1 1,55..4,7 47
0,12..0,47 3,36...13,1 28
0,56...1,5 8,4..22,5 15
1,8..6,8 14,4..54,4 8
160 1,0..2,2 16,0...35,2 16
0,001...0,0068 0,14...0,95 140
0,0082...0,047 0,71..4,1 87
0,056...0,15 3,0..8,2 55
0,15(L=18 mm) 45 30
0,18...0,22 9,9..12,1 55
250 0,22(L=18 mm) 5,9 27
0,27..0,47 8,6...15 32
0,47(L=23 mm) 75 16
0,56...0,68 17,9..21,7 32
0,68(L=23 mm) 14,9 22
0,82...1,0 13,9...17,0 17
0,022...0,047 7,3..15,5 330
400 0,068...0,15 6,0..13,6 91
0,22..1,0 13,6...62,0 62
0,01...0,022 5,0...11,0 500
630 0,033...0,068 46..9,6 142
0,1..0,47 9,0..42,3 90
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